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(a)噸 1`

(C)。 Ч喘
υ`
l

(a) Plant

(c) Device

lt(,11ヽ 1):

No、..2022

lNDUSTRIAL AUTOMAT10N

(b) `口 H

(d) コRO■

is the lowest level of automation'

(b)Enterpnse
(d)  MaChine

(10f0

Itrftcsis:60
[Maximum Marks : 60

th, 6) sfl-wlfrddn$ r?q"dtdr
Nole : There qre THREE sections in the paper A, B and C'

(ii) Cffiqtvfii@tt +afr10 qr'i*sd{ilfus trdotrnqosi$ 6IAq"
efiru trnagftawn*crry'*d t
Answer all lhe l0 parts of the question No' I in Section A' Each port carries

one mark and all l0 parts have objective type questions'

(iii) effi I *t vgl'CA fu7 a s{al *ffi{ d}Ss t e*6 vw 3 srer or d q'a

t46t 5 Fttti / so aql t rfi afrq t
Answer any 6 questions our of the E questions in Scubn B' Each queslion

carries 3 mark and to be answered within 5 lina / 50 words'

(iv) Cmfr*a ffittffil vei'*rar<?ftq t sd r.vws eioortca

tt6t Is Fna / 156 ql{sTffiq t

Answer any 1 questions out of the 6 questions in Scclion C' Each question

carries E mark and ro be answered within I5 lincs / 150 words'

(v) ed* da+ * afr vwl ol *qar qd aq 6@ Afrq t
Solve all the questions of a section coruecttively logelher'

(vi) qhf ,1rrr3ll I sat fi e fufr t 3iM qER O q@ e t

Only English version is valid in case of diference in both the languages'

+{rn-c
SECTION - A

l. (i) sqrtr{qlftqdc<tqli ?

P.TO.
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(a)可爺ぎ
…(C)"Hq論 輪 き爺

AutomatiOn mcans

・
)赫 揃 端

●)Ⅲ 袖

(a)鋪新 蒻
(c)檬 蒻

Which bus is inte.=1lediate?

(a) Contr01 bus

(C) Address bus

(2 oF4)

(b) 6r{s-dtf4{?qc{ft)
(d) uc{*s!fi

(b) *veqrft{aurrund
(d) slirfr

(b) sic:可8

(o魚 召 蒻

(b) Data bus

(d) System bus

7303

0)ぃ い 面 お む 鳥

"HHq uaq劇
｀ 飾 繭 哺 諭 Tcnさ

o 諭 ―て司騰 (b) (qЧ lo■

(c)f輛論         (d)¬領喘■
assistan:ξ

S aにchdOgy by wHch pOesヽ∝∞mメおhd宙ぬoЩ
(a) Nano‐t∝hno10gy     (b)Automation
(c) EIcctHcity          (d) None
m)司 ¬師 赫 き舗     "喘 К論 甲 。 頭 端 司 繭 諭 Ч口:ミ |

(a)   晴 (b)  ¨
o市 o象 0)   ldp備
Foriower accuracies_______acquisitiOn systern is used

(a) Digital (b) Analog
(C)Both(a)and o)     (d)M∝ hanical
(V)■ .蒻.哺.赫 1   

・
・ly.:、 R像喩奇命 喘、clミ |

(0 1■3`哺自 (b) 
―
瀬

(c) 赫 漸 (d) 赫 輛
In PLC operatiOn_____―

―Checks the status at the input sidc.

(a)Input scan (b)Output scan
(C)PЮgram“m (d)A‖ ofthe above
(V)"Ч lu"可師ft

(a) Decreased productivity (b) Worker controlling machines
. (c) 

. Replace human by machine (d) AII above(vi) \nr iG FLq ffq?q sqrd + Gq i S cHr vrdr i

A closed loop control system is also known as(a) Feedback control syslem (b) Open loop control system(c) control system (d) None
(vii) *t+freetatffEWi a
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")百

轟含。前硼Ψ:u"l口。長やくさ調m■き?
(a)織

…

        (b)喩

(C)雨・■・書・a.   (0中 ヽ

Wich ofthese docs not belong to analog mnsducers?

(O Shan encOder        (b) Thernrlistor
(c)LVDT          C)Smin gauge    .

(iX)▼ntずh赫 1.ョcmt?
(a)  」RI計ビ                   (b)  H:・ u

(c)¥Fin       (d)u:ェ｀
Which ofthese is graphcal input device?

(a)Keyboard        O)MOuse
(C) Track Ball          (d) L地 彙t pen

(x)合呵it‖Ч:u"青
"毬"n歯
口哺 哺曰哺で き?

(o ■.覇.0.       0)■ .即 .■ .
(c)0.輸 .暉.       (d)瓢 .■.即 .

Ⅷ ch ofthe following control system is not used m automation?

(→  PID            O)PLC
(c) DCS              (d) RGS                   (lX10)

れ田 ―■

SECr10N― B

2.  劇Hョ llヽ 住 毒念マ軍覇h同 】可て0きむR繭 メ:¶ 可面nti

Explain how automted systern achicVe superior perfomance.                 (3)

3.  赫
'Ч

ttn可1`qlで、りltf漱面舜更弔や百由町w町硬ntttnt i

G市ean c―ple ofautomated system which COntains one control system.     0)

4.飾 1輌●日■論Ⅲ 論Ч:u:舌漁瞑:
(3)Expldn role ofautomation in indusw.

5. sicl釧衡取口さ翻四マ可マ嘔鳥i?
(3)What do you mean by data acqulsltion?

6.鐸 lq・l,¶負甫きHゃ :ヽてΠttR i
(3)

Explain types ofproduction systems.

■
"●
暉■1コ繭 腋 爺 哺 誦 瞑 頭 ¬ さ?

Wht are difFerent acmtors used in automation?               (0
P.T,0.
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8 爺甲爺要筒希爺
'爺
岡赫 ミ|

Givc bncfinforrllation about CNC machincs                        (3)

9 蒻 訂 活 竃 h魚 召 論 uHョ |,、 l

Explain hydraulic control systems                                           (3)

熱田 ―哺

SECT10N― C
lo 鍮鋪高

"Ч
l。■珂甫 論 ql、ぃul'節洒 輔 論鯛lulボ l

Explain thc difFerent laycs in architecture of industrial Automation systcms        (8)

H ■銀 』鋪 扇 司 魚訳 含て山 讀 !

DcscHbc PID controller in dctail                                       (8)

12-Cn● (可Ⅲ 弔)舗刑 酬 面 論 "lul誡
|

Explain pncumatic control systcms                                           (8)

1■ 爺 瓢 可 研ハさ?

What do you rnean by

(a) もく。1

Accuracy

(b) でだヽ下(lMヽFΠ )

Precision

(C)赫

「 hcHl:ocouple

(d)…   (… )

Potcntiometer                                           (2+2+2+2)

14 輌 論鯛lulボ 1爺暉爺珊僣希載 鍮ぎl
Expl譴n machining Write advantages ofa CNC machinc                 (3)

15 ■暉 .■.¬「ミ?誡 9us面逸論。u“。ハー l

Whatis PIンC?Explain it Ⅵith help ofblock diagram                         (3)


